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BEREAI : BENBRATYEPH) REREME : 108/01/21 1BERS : BRIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- & 19 13

2 | HSRHEERX- E 16 16

3 | HsRHEERX- k1] 4 13

4 | BSRREERR- HIREE 1 5

5 | BSRHEERR- iiEd 3 8

6 | BSRHEERR- BHHES 0 1

7 | BSRHEERR- (] 12 14

8 | BSRHEERR- EX 1 3

9 | BSBHERR- o 16 12

10 | BESRHEEER- E2C 5 8

11| ESHEER- PN=E T 2

12 | BSRHEER- INERD 6 3

BrEE - B REER-

fest - 1~ RAERRER TEKEE, R TSEPRE , MARRISITRE
2 ~ IR (%) = (HMRHERGE - REERHE) + HWIRERXGE X 100
3 AChEMMHIRAEREREIEL I
(1)0-34%(=34.5)&F:68-
(2)385—-44% (=44.5) DEE : BIMAMESIHIERRINEINE - WHRRETHEBHHE -
(8) 45% (>4 4.5) DEE : FILRZWHE - URIFHRMEMINIGE - SRRXEEENRENER

BT
{LBERE - WKRREEEREBREEIRERS -
4 ~ BREARAGR : BIERE () s BIERE (+) ; BRATE 1 B+3RAKRL 0% 2@+3RAKI100%
5  FRRIEERHRIRFEIEL - BRBRKR—ERFIRE  LNFEEK -




E)Ib%f_;é ’H& /~Al|‘ )93 E #ﬁﬁ

BEREAI : BENBRATYEPH) REREM - 108/01/22 1BERS : RIRWD
HIREG) : 2 5EERS M (abs) :
we | memn | SETE R R TIFRARCBRR
FORUK | DMURK | SERK | DOURK

1| BSRHEERR- FF 1 0

2 | HSRHEERX- L% 0 4

3 | ESEHERR- e 0 6

4 | BSRREERR- EX 1 3

5 | BSRHERR- By 7 5

6 | BSRHEERR- HIBHHR 9 12

7 | BSRHEERR- k1] 8 7

8 | ESBHEERR- 8285 5 7

9 | BSRHERR- B 2 6

10 | BESRHEEER- =las 1 16

B EE B ER-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARE - REARE) + HRERE X 100
3+ AChEMMRIRAIERERRIEZL
(1) 0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>44.5) UEE : FIRZUKE - UEREHFHREEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAE 1 B+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBRKR—EREIRE - MNFESHK
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BEREENL « BSRHERNBIRAT(EPH) HREREMA  108/01/23 1RERS : FRERLD
HIREGD : 2 EBEREG (abs) |
we | memn | SETE R R TIFRARCBRR
RRK | IURK | FORK | IDRK

1| BSEHEERR- fles 3 2

2 | BSBLERR- ESe 1 4

3 | HsRHEERX- BeX 3 6

4 | BSRREERR- T 5 0

5 | BSEHEER- =tz3)1 12 2

6 | BESELEERR- EX 4 1

7| ESBLEERR- EN=TE 1 8

8 | BSELEERR- HIBHHR 5 6

9 | BSRHERR- AN 0 2

Bfr £ - B ER-

st - 1 ~RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARKE - REARE) + HRERE X 100
3 v AChEMMRIRAIERERRIEZL
(1) 0-34%(=34.5)& : 68
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHE -
(3) 45% (>44.5) EE : FIRZAFE - UEREHFHREEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAE 1 E+3RAKR50% - 2@+5RAK100%
5 - FRRIEERHRIEF B - BRBRKR—EREIRE - MNFESHK




